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1 | #include <stdio.h>

2 | void g(int *x, int *y) {

3 *X=*y -1,

4 *y=*y-2;

5 printf("*x = %d, *y = %d\n", *x, *y);

6 |}

7

8 |void f(int *z, int *w) {

9 intn=13;

10 g(w, &n);

11 printf("*z = %d, *w = %d, n = %d\n", *z, *w, n);
12 |}

13

14 | int main() {

15 inti=21;

16 intj=5;

17 intn=137;

18 (&1, &j);

19 printf("print 1: i = %d, j = %d, n = %d\n", i, |, n);
20 g(&n, &n);

21 printf("print 2: 1 = %d, j = %d, n = %d\n", i, |, n);
22 return O;

23 | }
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1 | #include <stdio.h>

2 |intf(inta, intb){

3 if (b==1) return g;

4 else {

5 int value = a + f(a, b-1);
6 return value;

7 }

8 |}

9 [|intmain() {

10 printf("%d\n", £(5, 3));
11 printf("%d\n", £(0, 0));
12 |}
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01 | public class BinarySearch{

02 public int faultyBinarySearch(int[] arr, int x){
03 int 1=0, r=arr.length-1,;

04 int m=(I+r)/2;

05 while(l<=r){

06 m=(l+r)/2;

07 if(arr[m]==x) return m;
08 if(arr[m]>x) I=m+1;
09 if(arrfm]<x) r=m-1;

10 }

11 return -1,

12 }

13|}
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01 | import java.util.Scanner;

02 | public class MyJavaCode {
03 public static void main(String[] args) {

04 Scanner in = new Scanner(System.in);
05 int a = in.nextint();

06 Animal dog = new Dog();

07 dog.run(a);

08 dog.run();

09 }

10 |}

11

12 | class Dog extends Animal {
13 public void run(int units){

14 System.out.printIn("Dog's running speed is " + units);
15 }

16 public void run(){

17 System.out.printin("Dog's default running speed is 20");
18 }

19 | }
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